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Ｐ４５練習問題 （宿題としてやってくる ２０分程度） 

１． 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

（１）

（ｘ、ｙ）＝（３，－８）

４ｘ＋ｙ＝４

ｘ＋ｙ＝－５

３ｘ＝９

１２＋ｙ＝４

ｙ＝－８

ｘ＝３

（２）
２ｘ＋５ｙ＝１８

ｘ＝２ｙ

２（２ｙ）＋５ｙ＝１８

（ｘ、ｙ）＝（４，２）

４ｙ＋５ｙ＝１８

９ｙ＝１８ ｙ＝２

ｘ＝４

（３）

１５ｘ－３５ｙ＝１０

１５ｘ－２７ｙ＝４２

（ｘ、ｙ）＝（１０，４）

３ｘ－７ｙ＝２

５ｘ－９ｙ＝１４

３ｘ－２８＝２

－８ｙ＝－３２

ｙ＝４

３ｘ＝３０

ｘ＝１０

（４）
４ｘ－５ｙ＝３

５ｙ＝８ｘ－１１

（ｘ、ｙ）＝（－

－８ｘ＋５ｙ＝－１１

４ｘ＋５＝３

８ｘ－１０ｙ＝６

－５ｙ＝－５

４ｘ＝－２

ｘ＝－

ｙ＝－１

１

２

１

２
、－１）
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２． 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

（１）

２５ｘ－４ｙ＝１２０

３１ｘ＝１２４

（ｘ、ｙ）＝（４，５）

３ｘ＋２ｙ＝２

５

４
ｘ－

ｙ

５
＝６

１２＋２ｙ＝２

６ｘ＋４ｙ＝４

ｘ＝４

２ｙ＝１０

ｙ＝５

（２）
ｘ－３ｙ＝１９

０．２ｘ－０．５ｙ＝３

２ｘ－５ｙ＝３０

２ｘ－６ｙ＝３８

（ｘ、ｙ）＝（－５，－８）

ｘ＋２４＝１９

ｙ＝－８

ｘ＝－５

（３）
２（２ｘ＋ｙ）＝６ｘ＋ｙ＋９

５ｘ－４ｙ＋３０＝０

（ｘ、ｙ）＝（－２，５）

４ｘ＋２ｙ－６ｘ－ｙ＝９

－２ｘ＋ｙ＝９

－８ｘ＋４ｙ＝３６

－３ｘ＝６

５ｘ－４ｙ＝－３０

４＋ｙ＝９

ｘ＝－２

ｙ＝５

（４）

（ｘ、ｙ）＝（８，１０）

４（ｘ＋２）－３（ｙ－２）＝１６

２（３ｘ－２ｙ）－ｘ＝０

４ｘ＋８－３ｙ＋６＝１６

４ｘ－３ｙ＝２

６ｘ－４ｙ－ｘ＝０

５ｘ－４ｙ＝０

１６ｘ－１２ｙ＝８

１５ｘ－１２ｙ＝０

４０－４ｙ＝０

ｘ＝８

－４ｙ＝－４０

ｙ＝１０
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３． 

 

３．２．１０の公倍数は３０ 

１０ｘ＋１５ｙ＝６０

１８ｘ＋２１ｙ＝６０

全ての辺に３０をかけましょう

１０ｘ＋１５ｙ＝１８ｘ＋２１ｙ＝６０

１０ｘ＋１２０＝６０

１０ｘ＝－６０

（ｘ、ｙ）＝（－６，８）

９０ｘ＋１３５ｙ＝５４０

９０ｘ＋１０５ｙ＝３００

ｘ

３
＋
ｙ

２
＝０．６ｘ＋０．７ｙ＝２

３０ｙ＝２４０

ｙ＝８

ｘ＝－６


